Instructional Tasks: Functions


1) The table below represents a set of ordered pairs. 
	X
	-3
	0
	2
	3
	4
	5

	Y
	9
	0
	4
	9
	16
	25


The teacher of class 835 asked the students whether or not they thought the ordered pairs in the table represent a function. The following responses are from some of the students in the class: 
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With which of the students do you agree? Explain why and critique the responses of those students with whom you disagree. 

Which of the following relations represent functions? For each one, explain how you know:

	X
	Y

	-2
	3

	0
	-1

	2
	3

	3
	8

	4
	15


a) 

b)          Domain
  Range

     -3

    7

     1

   8



   9 

5 
                10


c)   { (-2, 7), (-1, 7), (0, 7 ), (1,7)}



d)

The representations below show the number of cars sold at different car dealerships in the area over a period of several weeks. The three dealerships include Chevrolet, Toyota, and Hyundai. 
Hyundai dealership






1. How many cars does the Toyota dealership sell in 10 weeks? 

2. How many cars does the Hyundai dealership sell in 10 weeks?

3. How many cars does the Chevrolet dealership sell in 10 weeks?

4. All three dealerships have a goal of selling 1,000 cars by the end of next year. Which dealership will reach that goal first? How do you know?
This graph and equation each show the number of gallons, g, of water being emptied from two different pools after h hours. 



Mike’s Pool





Karen’s Pool

1. Whose pool starts out with more water in it at the beginning? How do you know?

2. After how many hours will both pools have THE SAME amount of water in each of them? Show how you arrived at your answer. 

3. From which pool is the water being emptied at a faster rate? How do you know?
Mary’s response:


“The table does represent a function because each y-value is positive.”





Jacky’s response:


“The table does not represent a function because each x-value is negative.”





Ginny’s response:


“The table does represent a function because each x-value has exactly one y-value.”





Harry’s response:


“The table does not represent a function because there are two different x-values that have the same y-value.”
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Toyota Dealership


Weeks�
# Cars Sold�
�
3�
60�
�
4�
80�
�
5�
100�
�
6�
120�
�
7�
140�
�
�
�
�
�
�
�






c = 26w


where w = weeks and


        c = cars sold





g =  -  15 h + 80








